
PARTS LIST

RECYCLABLE

RECYCLED

CONTENT %

STOCK 

NUMBER

PULL/CUT

QTY

ITEM QTYDESCRIPTIONITEM

Yes28 12GYPSUM FACE SHEET 5/8"1

Yes28 11GYPSUM CORE BOARD 1"2

Yes28 11GYPSUM CORE BOARD 1"3

Yes752270924 in1FLOOR RUNNER4

Yes75609424 in1CEILING RUNNER5

No70CUSTOM11THERMAFIBER SFAB6

No012528424 in24" VINYL BASE7

No0 2 lbmass1LAMINATE ADHESIVE8

1

1

2

2

3

3

4

4

A A

B B

DRAWN

rchapa

CHECKED

QA

MFG

APPROVED

02/01/23

SYMBIO by ENVIRONAMICS

TITLE

GROOVE SYSTEM

SIZE

B

SCALE

DWG NO

V- WALL

REV

 

SHEET 1  OF 1 

1 / 9

5

2

3

18

7

7

4

3

3

5

16

4

66



PARTS LIST

RECYCLABLE

RECYCLED

CONTENT %

STOCK 

NUMBER

PULL/CUT QTY

ITEM

QTY

DESCRIPTIONITEM

Yes753076546.672 in2GLAZED PANEL RAIL1

Yes753338775.84375 in2M-WALL PANEL YOKE2

Yes75609448 in1CEILING RUNNER3

Yes753725948 in1NARROW FLOOR RUNNER4

Yes753142581.625 in2GLAZED PANEL STILE5

Yes753338746.672 in2M-WALL PANEL YOKE6

Yes75ETF-1648 in2ALUMINUM BASE TRIM 6"
7

Yes75TXT-30644 in2CENTER SUPPORT SADDLE8

No012935548 in2BASE CLIP9

No0VTR-161181.609 in4VINYL LIGHT SEAL10

No88CUSTOM12HARD PANEL INSERT11

Yes25CUSTOM11VALULITE24 INSULATION 12

Yes25925471121/2" SPACER BOLT, 3-3/4"LG13

Yes2561120#6 X 1" CAD PFH14

Yes25121312Hex Nut, 1/2-1315

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

G G

H H

DRAWN

rchapa

CHECKED

QA

MFG

APPROVED

02/01/23

SYMBIO by ENVIRONAMICS

TITLE

FRAMED PANEL SYSTEM

SIZE

N/A

SCALE

DWG NO

HARD INSERT

REV

SHEET 1  OF 1 

1 / 4

1.  REMOVE BASE PLATES

2.  REMOVE PLASTIC MP CLIPS FROM BOTH SIDES

     OF PANEL

3.  REMOVE PANEL BY LIFTING UP FROM BOTTOM

4.  REMOVE PANEL FEET BY LOOSENING (4)

    #6 SCREWS

5.  DISASSEMBLE THE FRAME BY REMOVING ALL (4)

     #6 SCREWS AT EACH CORNER

6.  REMOVE LIGHT SEALS AND PANEL YOKES

     FROM STILES

7.  RECYCLE ALUMINUM AND STEEL COMPONENTS

3

1

10

5

2

6

10

5

2

6

1

8

14

13 15

14

1315

4

9

7

11

12



PARTS LIST

RECYCLABLE

RECYCLED

CONTENT %

STOCK 

NUMBER

PULL/CUT QTY

ITEM

QTY

DESCRIPTIONITEM

Yes753076546.672 in2GLAZED PANEL RAIL1

Yes75609448 in1CEILING RUNNER2

Yes753725948 in1NARROW FLOOR RUNNER3

Yes753142581.609 in2GLAZED PANEL BEVELED STILE4

Yes75ETF-1648 in2ALUMINUM BASE TRIM 6"5

Yes75TXT-30644 in2CENTER SUPPORT SADDLE6

No012935548 in2BASE CLIP7

No0VTR-140546.672 in2GLAZING CHANNEL BEAD8

No0VTR-140581.625 in2GLAZING CHANNEL BEAD9

No0VTR-161181.609 in4VINYL LIGHT SEAL10

No0CUSTOM111/4" CLEAR TEMPERED GLASS11

Yes25925471121/2" SPACER BOLT, 3-3/4"LG12

Yes2561120#6 X 1" CAD PFH13

Yes25121312Hex Nut, 1/2-1314

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

G G

H H

DRAWN

rchapa

CHECKED

QA

MFG

APPROVED

02/01/23

SYMBIO by ENVIRONAMICS 

TITLE

SYMBIO FRAMED PANEL

SIZE

N/A

SCALE

DWG NO

CENTER GLAZED

REV

SHEET 1  OF 1 9:40

9

10

10

9

8

13

4

4

13

13

13

12 14

6

13

1

8

11

1214

6

13

1.  REMOVE BASE PLATES

2.  REMOVE PLASTIC MP CLIPS FROM BOTH SIDES

     OF PANEL

3.  REMOVE PANEL BY LIFTING UP FROM BOTTOM

4.  REMOVE PANEL FEET BY LOOSENING (4)

    #6 SCREWS

5.  DISASSEMBLE THE FRAME BY REMOVING ALL (4)

     #6 SCREWS AT EACH CORNER

6.  REMOVE LIGHT SEALS AND GLAZING CHANNELS

     FROM STILES

7.  RECYCLE GLASS, ALUMINUM,

     AND STEEL COMPONENTS

573

2


	PANEL, V-WALL, T&G, RECYCLE.1
	SYMSYS HARD.1
	SYMSYS.1

